



ARIZONA DEPARTMENT OF TRANSPORTATION  
PROJECT DELIVERY AND OPERATIONS DIVISION  
CONTRACTS AND SPECIFICATIONS SECTION

## TABULATION OF BIDS

**CONTRACT # 2025066**

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
010 CH 345 F064301C	010-F-(234)T	103724	COCHISE	SOUTHEAST	11.5		Zarghami Ata

Highway Termini	Location	Work Description
-----------------	----------	------------------

• BENSON – STEINS PASS HIGHWAY (I-10)

• Jct SB I 10 to MP 356.49

• Pavement Rehabilitation

## BID RESULTS FOR 2025066

Bid Opening Date : 11/14/2025, Prequalification Required, Engineer Specialist : Zarghami Ata

**Completion Date:**

280 Working Days

The proposed project is located in Cochise County, along Interstate 10, between mileposts 345.50 and 356.49, near Willcox. The work includes milling the existing asphaltic concrete surface course and replacing it with new asphaltic concrete and a stone matrix asphaltic concrete overlay. It also involves replacing guardrails and guardrail end terminals, repairing existing bridge decks and concrete box culverts, updating pavement markings, and performing other related work.

Bid Rank	Compared To Department Estimat	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$26,923,450.00	DEPARTMENT ESTIMATE	\$26,923,450.00
1	-21.4%		\$21,154,661.64	FNF CONSTRUCTION, INC. 115 S. 48TH STREET TEMPE, AZ 85281-8504	\$21,154,661.64
2	-15.5%		\$22,757,777.00	FANN CONTRACTING, INC PO BOX 4356 PRESCOTT, AZ 86302-	\$22,757,777.00
3	+33.4%		\$35,919,171.00	GRANITE CONSTRUCTION COMPANY 4115 E ILLINOIS ST TUCSON, AZ 85714-	\$35,919,171.00

**Winning Bidder is 21.4% Under Department Estimate (Difference = (\$5,768,788.36))**

## \*\*\* Bid Tabs for Proposal Pamphlet 2025066 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020009	CU.YD.	REMOVAL OF STRUCTURAL CONCRETE				
Bid Rank	Department Estimate		2.000	\$1,500.000	\$3,000.00	
1	FNF CONSTRUCTION, INC.			\$1,500.000	\$3,000.00	+0.0%
2	FANN CONTRACTING, INC			\$1,750.000	\$3,500.00	+16.7%
3	GRANITE CONSTRUCTION COMPANY			\$1,650.000	\$3,300.00	+10.0%
2020019	L.FT.	REMOVAL OF EMBANKMENT CURB				
Bid Rank	Department Estimate		342.000	\$15.000	\$5,130.00	
1	FNF CONSTRUCTION, INC.			\$10.000	\$3,420.00	-33.3%
2	FANN CONTRACTING, INC			\$7.000	\$2,394.00	-53.3%
3	GRANITE CONSTRUCTION COMPANY			\$9.500	\$3,249.00	-36.7%
2020027	L.FT.	REMOVAL OF CONCRETE BARRIER				
Bid Rank	Department Estimate		800.000	\$80.000	\$64,000.00	
1	FNF CONSTRUCTION, INC.			\$28.000	\$22,400.00	-65.0%
2	FANN CONTRACTING, INC			\$27.000	\$21,600.00	-66.3%
3	GRANITE CONSTRUCTION COMPANY			\$26.000	\$20,800.00	-67.5%
2020029	SQ.YD.	REMOVAL OF ASPHALTIC CONCRETE PAVEMENT				
Bid Rank	Department Estimate		456.000	\$50.000	\$22,800.00	
1	FNF CONSTRUCTION, INC.			\$65.000	\$29,640.00	+30.0%
2	FANN CONTRACTING, INC			\$40.000	\$18,240.00	-20.0%
3	GRANITE CONSTRUCTION COMPANY			\$43.000	\$19,608.00	-14.0%
2020053	EACH	REMOVE (FLEXIBLE DELINEATOR)				
Bid Rank	Department Estimate		20.000	\$100.000	\$2,000.00	
1	FNF CONSTRUCTION, INC.			\$125.000	\$2,500.00	+25.0%
2	FANN CONTRACTING, INC			\$50.000	\$1,000.00	-50.0%
3	GRANITE CONSTRUCTION COMPANY			\$79.000	\$1,580.00	-21.0%
2020054	EACH	REMOVE (GUARD RAIL END TERMINAL)				
Bid Rank	Department Estimate		4.000	\$800.000	\$3,200.00	
1	FNF CONSTRUCTION, INC.			\$850.000	\$3,400.00	+6.3%
2	FANN CONTRACTING, INC			\$475.000	\$1,900.00	-40.6%
3	GRANITE CONSTRUCTION COMPANY			\$425.000	\$1,700.00	-46.9%
2020071	L.FT.	REMOVE GUARD RAIL				
Bid Rank	Department Estimate		1,863.000	\$10.000	\$18,630.00	
1	FNF CONSTRUCTION, INC.			\$11.000	\$20,493.00	+10.0%
2	FANN CONTRACTING, INC			\$12.000	\$22,356.00	+20.0%
3	GRANITE CONSTRUCTION COMPANY			\$6.350	\$11,830.05	-36.5%
2020078	SQ.YD.	REMOVE BITUMINOUS PAVEMENT FROM PCC (MILLING)				
Bid Rank	Department Estimate		2,461.000	\$6.000	\$14,766.00	
1	FNF CONSTRUCTION, INC.			\$2.500	\$6,152.50	-58.3%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025066 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020078	SQ.YD.	REMOVE BITUMINOUS PAVEMENT FROM PCC (MILLING)				
Bid Rank	Department Estimate		2,461.000	\$6.000	\$14,766.00	
1	FNF CONSTRUCTION, INC.			\$25.000	\$61,525.00	+316.7%
2	FANN CONTRACTING, INC			\$19.750	\$48,604.75	+229.2%
3	GRANITE CONSTRUCTION COMPANY					
2020082	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (1 1/2")				
Bid Rank	Department Estimate		187,932.000	\$1.500	\$281,898.00	
1	FNF CONSTRUCTION, INC.			\$1.700	\$319,484.40	+13.3%
2	FANN CONTRACTING, INC			\$2.500	\$469,830.00	+66.7%
3	GRANITE CONSTRUCTION COMPANY			\$2.850	\$535,606.20	+90.0%
2020083	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (2")				
Bid Rank	Department Estimate		320,253.000	\$1.250	\$400,316.25	
1	FNF CONSTRUCTION, INC.			\$1.850	\$592,468.05	+48.0%
2	FANN CONTRACTING, INC			\$2.300	\$736,581.90	+84.0%
3	GRANITE CONSTRUCTION COMPANY			\$2.900	\$928,733.70	+132.0%
2020085	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (3")				
Bid Rank	Department Estimate		528,049.000	\$2.500	\$1,320,122.50	
1	FNF CONSTRUCTION, INC.			\$2.800	\$1,478,537.20	+12.0%
2	FANN CONTRACTING, INC			\$2.900	\$1,531,342.10	+16.0%
3	GRANITE CONSTRUCTION COMPANY			\$3.000	\$1,584,147.00	+20.0%
2020087	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (4")				
Bid Rank	Department Estimate		15,119.000	\$3.000	\$45,357.00	
1	FNF CONSTRUCTION, INC.			\$3.250	\$49,136.75	+8.3%
2	FANN CONTRACTING, INC			\$3.000	\$45,357.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$4.600	\$69,547.40	+53.3%
2030112	L.FT.	SHOULDER BUILD-UP (MILLED AC)				
Bid Rank	Department Estimate		238,402.000	\$0.500	\$119,201.00	
1	FNF CONSTRUCTION, INC.			\$0.450	\$107,280.90	-10.0%
2	FANN CONTRACTING, INC			\$0.500	\$119,201.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.750	\$178,801.50	+50.0%
2030113	HOUR	SHOULDER BUILD-UP (COMPACTION)				
Bid Rank	Department Estimate		110.000	\$150.000	\$16,500.00	
1	FNF CONSTRUCTION, INC.			\$100.000	\$11,000.00	-33.3%
2	FANN CONTRACTING, INC			\$90.000	\$9,900.00	-40.0%
3	GRANITE CONSTRUCTION COMPANY			\$70.000	\$7,700.00	-53.3%
4040111	TON	BITUMINOUS TACK COAT				
Bid Rank	Department Estimate		255.000	\$550.000	\$140,250.00	
1	FNF CONSTRUCTION, INC.			\$500.000	\$127,500.00	-9.1%
2	FANN CONTRACTING, INC			\$700.000	\$178,500.00	+27.3%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025066 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4040111	TON	BITUMINOUS TACK COAT				
Bid Rank	Department Estimate		255.000	\$550.000	\$140,250.00	
3	GRANITE CONSTRUCTION COMPANY			\$792.000	\$201,960.00	+44.0%
4040116	HOUR	APPLY BITUMINOUS TACK COAT				
Bid Rank	Department Estimate		428.000	\$250.000	\$107,000.00	
1	FNF CONSTRUCTION, INC.			\$145.000	\$62,060.00	-42.0%
2	FANN CONTRACTING, INC			\$392.000	\$167,776.00	+56.8%
3	GRANITE CONSTRUCTION COMPANY			\$205.000	\$87,740.00	-18.0%
4040125	TON	FOG COAT				
Bid Rank	Department Estimate		3.000	\$1,000.000	\$3,000.00	
1	FNF CONSTRUCTION, INC.			\$800.000	\$2,400.00	-20.0%
2	FANN CONTRACTING, INC			\$1,285.000	\$3,855.00	+28.5%
3	GRANITE CONSTRUCTION COMPANY			\$2,400.000	\$7,200.00	+140.0%
4040165	SQ.YD.	BLOTTER MATERIAL				
Bid Rank	Department Estimate		9,099.000	\$0.500	\$4,549.50	
1	FNF CONSTRUCTION, INC.			\$0.200	\$1,819.80	-60.0%
2	FANN CONTRACTING, INC			\$0.500	\$4,549.50	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.320	\$2,911.68	-36.0%
4040230	TON	ASPHALT BINDER (PG 70-28 PM)				
Bid Rank	Department Estimate		7,703.000	\$800.000	\$6,162,400.00	
1	FNF CONSTRUCTION, INC.			\$515.000	\$3,967,045.00	-35.6%
2	FANN CONTRACTING, INC			\$550.000	\$4,236,650.00	-31.3%
3	GRANITE CONSTRUCTION COMPANY			\$545.000	\$4,198,135.00	-31.9%
4160004	TON	ASPHALTIC CONCRETE (3/4" MIX) (END PRODUCT) (SPECIAL MIX)				
Bid Rank	Department Estimate		86,031.000	\$70.000	\$6,022,170.00	
1	FNF CONSTRUCTION, INC.			\$53.000	\$4,559,643.00	-24.3%
2	FANN CONTRACTING, INC			\$59.000	\$5,075,829.00	-15.7%
3	GRANITE CONSTRUCTION COMPANY			\$134.000	\$11,528,154.00	+91.4%
4160031	TON	MINERAL ADMIXTURE				
Bid Rank	Department Estimate		809.000	\$90.000	\$72,810.00	
1	FNF CONSTRUCTION, INC.			\$90.000	\$72,810.00	+0.0%
2	FANN CONTRACTING, INC			\$90.000	\$72,810.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$90.000	\$72,810.00	+0.0%
6010603	SQ.YD.	PENETRATING DECK SEALER (METHACRYLATE)				
Bid Rank	Department Estimate		2,990.000	\$30.000	\$89,700.00	
1	FNF CONSTRUCTION, INC.			\$25.000	\$74,750.00	-16.7%
2	FANN CONTRACTING, INC			\$28.000	\$83,720.00	-6.7%
3	GRANITE CONSTRUCTION COMPANY			\$25.000	\$74,750.00	-16.7%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025066 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6011151	L.FT.	SINGLE SLOPE BRIDGE CONCRETE BARRIER AND TRANSITION (42")				
Bid Rank	Department Estimate		507.000	\$500.000	\$253,500.00	
1	FNF CONSTRUCTION, INC.			\$615.000	\$311,805.00	+23.0%
2	FANN CONTRACTING, INC			\$730.000	\$370,110.00	+46.0%
3	GRANITE CONSTRUCTION COMPANY			\$558.000	\$282,906.00	+11.6%
7010005	L.SUM	MAINTENANCE AND PROTECTION OF TRAFFIC				
Bid Rank	Department Estimate		1.000	\$280,000.000	\$280,000.00	
1	FNF CONSTRUCTION, INC.			\$849,000.000	\$849,000.00	+203.2%
2	FANN CONTRACTING, INC			\$550,000.000	\$550,000.00	+96.4%
3	GRANITE CONSTRUCTION COMPANY			\$700,000.000	\$700,000.00	+150.0%
7010025	EACH	TEMPORARY IMPACT ATTENUATION DEVICE (IN-LINE ENERGY ABSORBING TERM.)				
Bid Rank	Department Estimate		4.000	\$3,000.000	\$12,000.00	
1	FNF CONSTRUCTION, INC.			\$2,800.000	\$11,200.00	-6.7%
2	FANN CONTRACTING, INC			\$2,615.000	\$10,460.00	-12.8%
3	GRANITE CONSTRUCTION COMPANY			\$4,100.000	\$16,400.00	+36.7%
7010026	EACH-DAY	TEMPORARY IMPACT ATTENUATION DEVICE (IN-LINE ENERGY ABSORBING TERM.) (IN USE)				
Bid Rank	Department Estimate		896.000	\$35.000	\$31,360.00	
1	FNF CONSTRUCTION, INC.			\$25.000	\$22,400.00	-28.6%
2	FANN CONTRACTING, INC			\$24.000	\$21,504.00	-31.4%
3	GRANITE CONSTRUCTION COMPANY			\$22.750	\$20,384.00	-35.0%
7015010	L.FT.	TEMPORARY CONCRETE BARRIER (INSTALLATION AND REMOVAL)				
Bid Rank	Department Estimate		2,640.000	\$25.000	\$66,000.00	
1	FNF CONSTRUCTION, INC.			\$25.000	\$66,000.00	+0.0%
2	FANN CONTRACTING, INC			\$24.000	\$63,360.00	-4.0%
3	GRANITE CONSTRUCTION COMPANY			\$41.000	\$108,240.00	+64.0%
7016020	L.FT.-DAY	TEMPORARY CONCRETE BARRIER (IN USE)				
Bid Rank	Department Estimate		591,360.000	\$0.060	\$35,481.60	
1	FNF CONSTRUCTION, INC.			\$0.060	\$35,481.60	+0.0%
2	FANN CONTRACTING, INC			\$0.050	\$29,568.00	-16.7%
3	GRANITE CONSTRUCTION COMPANY			\$0.060	\$35,481.60	+0.0%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department Estimate		115.000	\$500.000	\$57,500.00	
1	FNF CONSTRUCTION, INC.			\$500.000	\$57,500.00	+0.0%
2	FANN CONTRACTING, INC			\$400.000	\$46,000.00	-20.0%
3	GRANITE CONSTRUCTION COMPANY			\$1,300.000	\$149,500.00	+160.0%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		1,658.000	\$60.000	\$99,480.00	
1	FNF CONSTRUCTION, INC.			\$40.000	\$66,320.00	-33.3%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025066 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		1,658.000	\$60.000	\$99,480.00	
1	FNF CONSTRUCTION, INC			\$35.000	\$58,030.00	-41.7%
3	GRANITE CONSTRUCTION COMPANY			\$67.500	\$111,915.00	+12.5%
7016075	HOUR	FLAGGING SERVICES (CIVILIAN)				
Bid Rank	Department Estimate		480.000	\$70.000	\$33,600.00	
1	FNF CONSTRUCTION, INC.			\$60.000	\$28,800.00	-14.3%
2	FANN CONTRACTING, INC			\$52.000	\$24,960.00	-25.7%
3	GRANITE CONSTRUCTION COMPANY			\$44.000	\$21,120.00	-37.1%
7016079	HOUR	FLAGGING SERVICES (UNIFORMED OFFICER)				
Bid Rank	Department Estimate		1,520.000	\$120.000	\$182,400.00	
1	FNF CONSTRUCTION, INC.			\$120.000	\$182,400.00	+0.0%
2	FANN CONTRACTING, INC			\$125.000	\$190,000.00	+4.2%
3	GRANITE CONSTRUCTION COMPANY			\$87.000	\$132,240.00	-27.5%
7030026	EACH	DELINEATOR ASSEMBLY (FLEXIBLE) (CONCRETE FOUNDATION)				
Bid Rank	Department Estimate		80.000	\$250.000	\$20,000.00	
1	FNF CONSTRUCTION, INC.			\$185.000	\$14,800.00	-26.0%
2	FANN CONTRACTING, INC			\$175.000	\$14,000.00	-30.0%
3	GRANITE CONSTRUCTION COMPANY			\$314.000	\$25,120.00	+25.6%
7040005	L.FT.	PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		294,480.000	\$0.650	\$191,412.00	
1	FNF CONSTRUCTION, INC.			\$0.500	\$147,240.00	-23.1%
2	FANN CONTRACTING, INC			\$0.500	\$147,240.00	-23.1%
3	GRANITE CONSTRUCTION COMPANY			\$0.440	\$129,571.20	-32.3%
7040006	L.FT.	PAVEMENT MARKING (YELLOW EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		214,650.000	\$0.650	\$139,522.50	
1	FNF CONSTRUCTION, INC.			\$0.500	\$107,325.00	-23.1%
2	FANN CONTRACTING, INC			\$0.500	\$107,325.00	-23.1%
3	GRANITE CONSTRUCTION COMPANY			\$0.440	\$94,446.00	-32.3%
7040072	L.FT.	PAVEMENT MARKING (TRANSVERSE) (THERMOPLASTIC) (ALKYD) (0.090")				
Bid Rank	Department Estimate		1,305.000	\$1.000	\$1,305.00	
1	FNF CONSTRUCTION, INC.			\$1.000	\$1,305.00	+0.0%
2	FANN CONTRACTING, INC			\$1.000	\$1,305.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.900	\$1,174.50	-10.0%
7060013	EACH	PAVEMENT MARKER, RAISED, TYPE C				
Bid Rank	Department Estimate		4,330.000	\$3.500	\$15,155.00	
1	FNF CONSTRUCTION, INC.			\$3.500	\$15,155.00	+0.0%
2	FANN CONTRACTING, INC			\$3.500	\$15,155.00	+0.0%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025066 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7060013	EACH	PAVEMENT MARKER, RAISED, TYPE C				
Bid Rank	Department Estimate		4,330.000	\$3.500	\$15,155.00	
3	GRANITE CONSTRUCTION COMPANY			\$3.120	\$13,509.60	-10.9%
7060015	EACH	PAVEMENT MARKER, RAISED, TYPE D				
Bid Rank	Department Estimate		40.000	\$3.500	\$140.00	
1	FNF CONSTRUCTION, INC.			\$3.500	\$140.00	+0.0%
2	FANN CONTRACTING, INC			\$3.500	\$140.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$3.120	\$124.80	-10.9%
7060017	EACH	PAVEMENT MARKER, RAISED, TYPE E				
Bid Rank	Department Estimate		7,170.000	\$3.500	\$25,095.00	
1	FNF CONSTRUCTION, INC.			\$3.500	\$25,095.00	+0.0%
2	FANN CONTRACTING, INC			\$3.500	\$25,095.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$3.120	\$22,370.40	-10.9%
7082021	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		591,240.000	\$0.150	\$88,686.00	
1	FNF CONSTRUCTION, INC.			\$0.140	\$82,773.60	-6.7%
2	FANN CONTRACTING, INC			\$0.150	\$88,686.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.130	\$76,861.20	-13.3%
7082022	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank	Department Estimate		429,281.000	\$0.150	\$64,392.15	
1	FNF CONSTRUCTION, INC.			\$0.140	\$60,099.34	-6.7%
2	FANN CONTRACTING, INC			\$0.150	\$64,392.15	0.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.130	\$55,806.53	-13.3%
7350006	EACH	LOOP DETECTOR (COUNTER) (FULL REPLACEMENT)				
Bid Rank	Department Estimate		2.000	\$15,000.000	\$30,000.00	
1	FNF CONSTRUCTION, INC.			\$9,000.000	\$18,000.00	-40.0%
2	FANN CONTRACTING, INC			\$8,500.000	\$17,000.00	-43.3%
3	GRANITE CONSTRUCTION COMPANY			\$7,600.000	\$15,200.00	-49.3%
8050003	ACRE	SEEDING (CLASS II)				
Bid Rank	Department Estimate		33.000	\$7,000.000	\$231,000.00	
1	FNF CONSTRUCTION, INC.			\$5,500.000	\$181,500.00	-21.4%
2	FANN CONTRACTING, INC			\$7,200.000	\$237,600.00	+2.9%
3	GRANITE CONSTRUCTION COMPANY			\$6,450.000	\$212,850.00	-7.9%
8101021	L.FT.	EROSION CONTROL (WATTLES) (9")				
Bid Rank	Department Estimate		5,949.000	\$4.000	\$23,796.00	
1	FNF CONSTRUCTION, INC.			\$3.500	\$20,821.50	-12.5%
2	FANN CONTRACTING, INC			\$4.000	\$23,796.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$4.250	\$25,283.25	+6.3%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025066 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$2,700,000.000	\$2,700,000.00	
1	FNF CONSTRUCTION, INC.			\$2,080,700.000	\$2,080,700.00	-22.9%
2	FANN CONTRACTING, INC			\$2,265,000.000	\$2,265,000.00	-16.1%
3	GRANITE CONSTRUCTION COMPANY			\$1,732,451.440	\$1,732,451.44	-35.8%
9050005	L.FT.	GUARD RAIL, W-BEAM, SINGLE FACE (MASH)				
Bid Rank	Department Estimate		2,250.000	\$65.000	\$146,250.00	
1	FNF CONSTRUCTION, INC.			\$55.000	\$123,750.00	-15.4%
2	FANN CONTRACTING, INC			\$58.000	\$130,500.00	-10.8%
3	GRANITE CONSTRUCTION COMPANY			\$34.000	\$76,500.00	-47.7%
9050025	EACH	GUARD RAIL TERMINAL (MASH)				
Bid Rank	Department Estimate		8.000	\$6,500.000	\$52,000.00	
1	FNF CONSTRUCTION, INC.			\$6,000.000	\$48,000.00	-7.7%
2	FANN CONTRACTING, INC			\$5,800.000	\$46,400.00	-10.8%
3	GRANITE CONSTRUCTION COMPANY			\$4,503.000	\$36,024.00	-30.7%
9050419	EACH	GUARD RAIL TRANSITION (C-10.30)				
Bid Rank	Department Estimate		8.000	\$5,500.000	\$44,000.00	
1	FNF CONSTRUCTION, INC.			\$6,000.000	\$48,000.00	+9.1%
2	FANN CONTRACTING, INC			\$5,800.000	\$46,400.00	+5.5%
3	GRANITE CONSTRUCTION COMPANY			\$6,620.000	\$52,960.00	+20.4%
9130001	CU.YD.	RIPRAP (DUMPED)				
Bid Rank	Department Estimate		1,179.000	\$220.000	\$259,380.00	
1	FNF CONSTRUCTION, INC.			\$175.000	\$206,325.00	-20.5%
2	FANN CONTRACTING, INC			\$150.000	\$176,850.00	-31.8%
3	GRANITE CONSTRUCTION COMPANY			\$110.000	\$129,690.00	-50.0%
9130017	L.FT.	RAIL BANK PROTECTION (C-17.20) (C-17.20) (TYPE 7)				
Bid Rank	Department Estimate		46.000	\$800.000	\$36,800.00	
1	FNF CONSTRUCTION, INC.			\$1,250.000	\$57,500.00	+56.3%
2	FANN CONTRACTING, INC			\$1,660.000	\$76,360.00	+107.5%
3	GRANITE CONSTRUCTION COMPANY			\$850.000	\$39,100.00	+6.3%
9160001	L.FT.	EMBANKMENT CURB				
Bid Rank	Department Estimate		342.000	\$30.000	\$10,260.00	
1	FNF CONSTRUCTION, INC.			\$30.000	\$10,260.00	+0.0%
2	FANN CONTRACTING, INC			\$18.000	\$6,156.00	-40.0%
3	GRANITE CONSTRUCTION COMPANY			\$26.000	\$8,892.00	-13.3%
9240010	L.SUM	FORCE ACCOUNT WORK (BRIDGE DECK REPAIR - MONK DRAW BRIDGE EB & WB)				
Bid Rank	Department Estimate		1.000	\$280,000.000	\$280,000.00	
1	FNF CONSTRUCTION, INC.			\$280,000.000	\$280,000.00	+0.0%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025066 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240010	L.SUM	FORCE ACCOUNT WORK (BRIDGE DECK REPAIR - MONK DRAW BRIDGE EB & WB)				
Bid Rank	Department Estimate		1.000	\$280,000.000	\$280,000.00	
1	FNF CONSTRUCTION, INC.			\$280,000.000	\$280,000.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$280,000.000	\$280,000.00	+0.0%
9240014	L.SUM	FORCE ACCOUNT WORK (CONCRETE SPALL REPAIR)				
Bid Rank	Department Estimate		1.000	\$25,000.000	\$25,000.00	
1	FNF CONSTRUCTION, INC.			\$25,000.000	\$25,000.00	+0.0%
2	FANN CONTRACTING, INC			\$25,000.000	\$25,000.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$25,000.000	\$25,000.00	+0.0%
9240015	L.SUM	FORCE ACCOUNT WORK (CONCRETE CRACK EPOXY INJECTION)				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	FNF CONSTRUCTION, INC.			\$10,000.000	\$10,000.00	+0.0%
2	FANN CONTRACTING, INC			\$10,000.000	\$10,000.00	+0.0%
3	GRANITE CONSTRUCTION COMPANY			\$10,000.000	\$10,000.00	+0.0%
9240050	L.SUM	MISCELLANEOUS WORK (DIAPHRAGM WELD REPAIR)				
Bid Rank	Department Estimate		1.000	\$20,000.000	\$20,000.00	
1	FNF CONSTRUCTION, INC.			\$45,000.000	\$45,000.00	+125.0%
2	FANN CONTRACTING, INC			\$70,000.000	\$70,000.00	+250.0%
3	GRANITE CONSTRUCTION COMPANY			\$55,000.000	\$55,000.00	+175.0%
9240117	SQ.FT.	MISCELLANEOUS WORK (BRIDGE DECK REPAIR - SAFFORD & LUZENA TI)				
Bid Rank	Department Estimate		2,475.000	\$750.000	\$1,856,250.00	
1	FNF CONSTRUCTION, INC.			\$85.000	\$210,375.00	-88.7%
2	FANN CONTRACTING, INC			\$90.000	\$222,750.00	-88.0%
3	GRANITE CONSTRUCTION COMPANY			\$140.000	\$346,500.00	-81.3%
9240140	TON	MISCELLANEOUS WORK (STONE MATRIX ASPHALTIC CONCRETE)				
Bid Rank	Department Estimate		42,358.000	\$90.000	\$3,812,220.00	
1	FNF CONSTRUCTION, INC.			\$81.000	\$3,430,998.00	-10.0%
2	FANN CONTRACTING, INC			\$88.000	\$3,727,504.00	-2.2%
3	GRANITE CONSTRUCTION COMPANY			\$250.000	\$10,589,500.00	+177.8%
9240141	TON	MISCELLANEOUS WORK (STABILIZING ADDITIVE)				
Bid Rank	Department Estimate		169.000	\$1,300.000	\$219,700.00	
1	FNF CONSTRUCTION, INC.			\$1,150.000	\$194,350.00	-11.5%
2	FANN CONTRACTING, INC			\$1,200.000	\$202,800.00	-7.7%
3	GRANITE CONSTRUCTION COMPANY			\$1,500.000	\$253,500.00	+15.4%
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank	Department Estimate		1.000	\$250,000.000	\$250,000.00	
1	FNF CONSTRUCTION, INC.			\$304,000.000	\$304,000.00	+21.6%
2	FANN CONTRACTING, INC			\$295,437.850	\$295,437.85	+18.2%

## \*\*\* Bid Tabs for Proposal Pamphlet 2025066 \*\*\*

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank	Department Estimate		1.000	\$250,000.000	\$250,000.00	
3	GRANITE CONSTRUCTION COMPANY			\$273,000.000	\$273,000.00	+9.2%
9240181	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS)(MANUAL/MECHANICAL METHODS)				
Bid Rank	Department Estimate		72,000.000	\$1.000	\$72,000.00	
1	FNF CONSTRUCTION, INC.			\$0.900	\$64,800.00	-10.0%
2	FANN CONTRACTING, INC			\$0.500	\$36,000.00	-50.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.470	\$33,840.00	-53.0%
9240182	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS(HERBICIDE)				
Bid Rank	Department Estimate		88,000.000	\$0.800	\$70,400.00	
1	FNF CONSTRUCTION, INC.			\$0.400	\$35,200.00	-50.0%
2	FANN CONTRACTING, INC			\$0.500	\$44,000.00	-37.5%
3	GRANITE CONSTRUCTION COMPANY			\$0.420	\$36,960.00	-47.5%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$200,000.000	\$200,000.00	
1	FNF CONSTRUCTION, INC.			\$115,000.000	\$115,000.00	-42.5%
2	FANN CONTRACTING, INC			\$90,000.000	\$90,000.00	-55.0%
3	GRANITE CONSTRUCTION COMPANY			\$74,900.000	\$74,900.00	-62.6%
9280036	L.FT.	GROUND-IN RUMBLE STRIP (8 INCH)				
Bid Rank	Department Estimate		127,770.000	\$0.250	\$31,942.50	
1	FNF CONSTRUCTION, INC.			\$0.200	\$25,554.00	-20.0%
2	FANN CONTRACTING, INC			\$0.150	\$19,165.50	-40.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.120	\$15,332.40	-52.0%
9280037	L.FT.	GROUND-IN RUMBLE STRIP (12 INCH)				
Bid Rank	Department Estimate		88,740.000	\$0.300	\$26,622.00	
1	FNF CONSTRUCTION, INC.			\$0.200	\$17,748.00	-33.3%
2	FANN CONTRACTING, INC			\$0.150	\$13,311.00	-50.0%
3	GRANITE CONSTRUCTION COMPANY			\$0.120	\$10,648.80	-60.0%